C) A ship is heading due south at 15 mph, The current is flowing northwest at
3 mph. Find the actual bearing and speed of the ship.

Shooting a basketball: A basketball is shot at an angle 65" with an initial speed of
| 2m/sec.
a. Find the component form of the initial velocity.
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b. Give an interpretation of the hgfizontal and vertical compd
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[Fosce = m“kcj“‘{-“‘kf Combining Forces: A [orce t@-lbs acts on an object at angle
force of 65 pounds acts on the object at an angle if — 25", Fing the directionyind
magnitude of the resultant force.
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